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1 Introduction

RAN2 should now finalize the work on CA enhancements for Rel-13 where up to 32 carriers will be supported. For this work RAN1 is about to define new UE categories (Cat 17 for DL and Cat 14 for UL). With the introduction of these new categories RAN2 needs to define new L2-buffer sizes.
2 Discussion
RAN2 has during this work been assuming that a UE supporting up to 32 CCs would support 25 Gbps (or 25065984000 bps to be precise) in DL and 9.6 Gbps (or 9585664000 bps to be precise) in UL. Similarly there are proposals in RAN1 to define such a UE category [1].

For this new category RAN2 would need to define the L2-buffer size. Below we discuss this for the CA scenario and DC scenario.
2.1 CA
For CA the L2-buffers has been calculated according to the following formula:
Total layer-2 buffer size =  (MaxULDataRate + MaxDLDataRate) * RLCRoundTripTime.

RLCRoundTripTime was assumed to be 75 ms and then, by plugging in the values for the new category in the formula would give us the following L2-buffer:

Total layer-2 buffer size =  (9585664000 + 25065984000) * 0.075 = 2598873600 bits = 324859200 Byte.
Rounded this would be 330 MB, which we suggest should be the buffer size for this new category (without split bearer support).
Proposal 1 L2 buffer sizes for UEs of the new category without support for split bearers is 330000000
2.2 Dual Connectivity
In DC the L2-buffers were determined based on the below formula:
Total layer-2 buffer size =  (MaxULDataRate + MaxSeNBDLDataRate) * RLCRoundTripTime + MaxMeNBDLDataRate * (X2delay + SeNBTXQueueDelay + RLCRoundTripTime).

The following values where assumed:
· X2delay = 30 ms

· SeNBTXQueueDelay = 100 ms

· RLCRoundTripTime = 75 ms

It was assumed for the calculation half of the carriers where in MeNB and half in the SeNB, in case of 32 carriers it would correspond to having 16 carriers in the MeNB and 16 carriers in the SeNB. Hence we can assume the following:

· MaxSeNBDLDataRate = MaxMeNBDLDataRate = MaxDLDataRate * 0.5

Plugging in the values for the new category in the formula would give us the following L2-buffer:

Total layer-2 buffer size =  (9585664000 + 25065984000*0.5) * 0.075 + 25065984000*0.5 * (0.03 + 0.1 + 0.075) = 4228162560 bits = 528520320 Byte.
Rounded this would be 530 MB, which we suggest should be the buffer size for this new category with split bearer support.
Proposal 2 L2 buffer sizes for UEs of the new category without support for split bearers is 530 000 000
3 Conclusion

Based on the discussion in section 2 we propose the following:
Proposal 1
L2 buffer sizes for UEs of the new category without support for split bearers is 330000000
Proposal 2
L2 buffer sizes for UEs of the new category without support for split bearers is 530 000 000
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